

# Simplifying Complex Fractions Worksheet

Simplify the given fractions.

$$\textcircled{1} \frac{5 - \frac{2}{5}}{6 + \frac{1}{3}} =$$

$$\textcircled{7} \frac{x + \frac{a}{c}}{x + \frac{b}{d}} =$$

$$\textcircled{2} \frac{2}{\frac{3}{2} - \frac{4}{3}} =$$

$$\textcircled{8} \frac{a^2 + \frac{a}{3}}{4 + \frac{x}{5}} =$$

$$\textcircled{3} \frac{1}{2 - \frac{1}{3}} =$$

$$\textcircled{9} \frac{3 + \frac{1}{4}}{\frac{2}{3}} =$$

$$\textcircled{4} \frac{x + \frac{1}{y}}{x - \frac{1}{y}} =$$

$$\textcircled{10} \frac{1\frac{1}{2} + 2\frac{2}{3}}{1\frac{1}{2} - 2\frac{2}{3}} =$$

$$\textcircled{5} \frac{1 - \frac{2}{x}}{x + \frac{4}{9x}} =$$

$$\textcircled{11} \frac{5 - \frac{3}{4}}{\frac{5}{6}} =$$

$$\textcircled{6} \frac{1}{1 - \frac{1}{x-1}} =$$

$$\textcircled{12} \frac{x - \frac{x}{y}}{x - \frac{x^2}{y^2}} =$$

# Simplifying Complex Fractions Worksheet

## Answers

$\textcircled{1} \frac{5 - \frac{2}{5}}{6 + \frac{1}{3}} = \frac{69}{95}$	$\textcircled{7} \frac{x + \frac{a}{c}}{x + \frac{b}{d}} = \frac{d(xc + a)}{c(xd + b)}$
$\textcircled{2} \frac{2}{\frac{3}{2} - \frac{4}{3}} = 12$	$\textcircled{8} \frac{a^2 + \frac{a}{3}}{4 + \frac{x}{5}} = \frac{5a(3a + 1)}{3(20 + x)}$
$\textcircled{3} \frac{1}{2 - \frac{1}{3}} = \frac{3}{5}$	$\textcircled{9} \frac{3 + \frac{1}{4}}{\frac{2}{3}} = \frac{39}{8}$
$\textcircled{4} \frac{x + \frac{1}{y}}{x - \frac{1}{y}} = \frac{xy + 1}{xy - 1}$	$\textcircled{10} \frac{1\frac{1}{2} + 2\frac{2}{3}}{1\frac{1}{2} - 2\frac{2}{3}} = -\frac{25}{7}$
$\textcircled{5} \frac{1 - \frac{2}{x}}{x + \frac{4}{9x}} = \frac{9x - 18}{9x^2 + 4}$	$\textcircled{11} \frac{5 - \frac{3}{4}}{\frac{5}{6}} = \frac{51}{10}$
$\textcircled{6} \frac{1}{1 - \frac{1}{x - 1}} = \frac{x - 1}{x - 2}$	$\textcircled{12} \frac{x - \frac{x}{y}}{x - \frac{x^2}{y^2}} = \frac{y(y - 1)}{y - x}$